Riverside Zocy Made in Viet Nam
ade In Viet Nam
Bedroom
FURNITURE )
email:  info@riverside-furniture.com Assembly Instructions
Hardware and Parts packed with the Headboard
58078 4/6-5/0 Headboard Post Headboard Stretcher
Uph/Pnl Headboard
One Left &
1pc. One Right 1pc
05/16" x 2" | @5/16" x @12mm | @5/16" x @19mm 91/4" x 1-1/2"[ @1/4"x @10mm | D1/4" x G16mm M4 x 2"-1/2 M4 x 4"
Allen Head Bolt Spring Washer Flat Washer Allen Head Bolt|  Spring Washer Flat Washer Allen key | Straight Allen key
© <o o | &
~6 pes. 6 ps. 6 pcs. 2 ps. 2 pes. 2 pes. 1 pec. 1 pc.
Hardware and Parts packed with the Footboard
58071 4/6-5/0 Panel 5/0 Roll Slat J1/4" x 2" a1/4" x 1-1/2 @1/4'.' x @10mm
Footboard & Slats 60-7/8" long Slat Support Leg {Slat Allen Head Bolt Allen Head Bolt Spring Washer
\ - \ % (@)
2 pcs 2 pos. 2 pes. 4 pcs.
a1/4" x D16 M4 x 2-1/2 | M4 x 4" Straight @4 x 30mm
Flat Washer Allen Key Allen key Wood Screw
S &
1 pc. 15 pcs. 1pc 4 pes. ipe |ED  1pc 32 ps.
Hardware and Parts packed with the Bed Rails
58073 -- 5/0-6/6 Storage Rail 1In | 25/16" x 3" Arc Washer Nut | 12 mm Open
Long Bolt 37*17mm 35/16"-18mm Wrench
¢« N % 4/6-5/0 Queen Standard Bed
&A9 tpc 4pes. 4pes. 4pes. 1pe. | 58078 -- 4/6-5/0 Uph/Pnl Headboard
8074510616 Panet Rt |-G St | S o516 -1smm | et | 58071 -- 4/6-5/0 Panel Footboard & Slats
\ « Q| Ry | 98072~ 5/0-6/6 Panel Rails 2In
e e ipes ipes . | 98073 - 5/0-6/6 Storage szzl 1In
58072-- 5/0-6/6 Panel Rails 2In | @5/16" x3" | Arc Washer Nut | 12 mm Open 58074 -- 5/0-6/6 Panel Rail 1In
\ Long Bolt 37*17mm  [D5/16"-18mm Wrench
R-A9 \ 2 pcs 8 pcs. 8 pcs. 8 pcs. 1 pc.




Z.0¢e Page 2 of 8
P M&bﬂé& / Made in Viet Nam

FURNITURE Bed?'OOm

email:  info@riverside-furniture.com Assembly Instructions




. , Zoey
P”"MW Bedroom

FURNITURE

email:  info@riverside-furniture.com Assembly Instructions

Page 3 of 8

Made in Viet Nam

4/6-5/0 Queen Standard Bed
58078 -- 4/6-5/0 Uph/Pnl Headboard
58071 -- 4/6-5/0 Panel Footboard & Slats

58072-- 5/0-6/6 Panel Rails 2In

STEP 5

STEP 6




PMW

FURNITURE

email:  info@riverside-furniture.com

Zoey
Bedroom

Assembly Instructions

Page 4 of 8

Made in Viet Nam

% STEP 10
]




Riverside

FURNITURE

email:  info@riverside-furniture.com

Zoey

Bedroom
Assembly Instructions

Page 5 of 8

Made in Viet Nam

4/6-5/0 Queen Standard Bed

58078 -- 4/6-5/0 Uph/Pnl Headboard
58071 -- 4/6-5/0 Panel Footboard & Slats
58073 -- 5/0-6/6 Storage Rail 1In
58074 -- 5/0-6/6 Panel Rail 1In

R-A4

E\ R-A5




P- . Z0€y VPP 1Gage6of8
MMZ& ade in Viet Nam
FURNITURE BedrOOm s

email:  info@riverside-furniture.com Assembly Instructions

STEP 5 STEP 6




Page 7 of 8

Made in Viet Nam

Zoey
Bedroom
Assembly Instructions

Riverside

FURNITURE
email:  info@riverside-furniture.com

—

=8 ¢y




FURNITURE
info@riverside-furniture.com

Zoey
Bedroom

Assembly Instructions

Page 8 of 8

Made in Viet Nam

5/0 Queen Standard Bed
58070 -- 5/0 Panel Headboard

USE THESE HOLES FOR ATTACHING WOOD SIDE RAILS.
ALL HARDWARE IS INCLUDED WITH THE SIDE RAILS

[

USE THESE HOLES FOR ATTACHING A FULL SIZE (4/6)

METAL BED FRAME

USE THESE HOLES FOR ATTACHING A QUEEN SIZE (5/0)

METAL BED FRAME

[

_/






